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A -What is the meaning of the underlined words according to the text?
1. Marriages in Islam do not actually have a religious or ritual aspect.
2)ASg0 otuwo b) swluww c)odle d) gsds

2. The bride and groom are here both represented by a guardian.

a) Jg dleld g wgye b) Sy g5 9 29 ) Sy dleld g wgye

3. Both parties have reached marriageable age at puberty.

d) Jg «@>g5 929

gl oy b)aiss Colal Clsgl o gk oy
4. That it specifies a dower.
a)4a D) e c)alee leg e
5. Forms a deferred dower or directdower .
a)acllainY] die 4 yp0  ddllaolliis 4500 b) Bgxo 4y 540 ¢« g0 4 yp0
C) duypo ¢ 90 p00 d)aclanwy] Kie @0 ¢ J>g0 4 00
6. The bride's milk siblings.
a) yplgs i D) by 3l g palss €)ooy dela,
7. She may be considered obstinate or rebellious.
8. All economic responsibilities fall on the husband.
a)ly b) oyl C)aed y d)yatsl
9. The man pays her established maintenance.
a)d yp0 b)asa C)b ddg d)adss (10,8 yuds
10. The wife normally provide furnishings or utensils.
a),h e b)(4;ke) S5 flwg C)ags d)lele
11. While the parties are minors.
) yio )8 pd b b)&l )8 syl C) puo dged pdylo A D deed 8o
12.As she is not yet legally competent.
2)gie5 Cla b) 59k oMo Ol Colal d) sl oMo
13. Widow or divorcee
a)uL.w);).wg9Ltbd&ﬂa.a b)d&ﬂaﬁboy C)ul.w:))).w@buLo.aBL;* d)duzUa.oLp&La.’L;’
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14. Give a positive; vocal acceptance and she must give her consent.

15. She has not openly rejected.

a) by yo b)lle c)s , d)sb 5y b
16. Such a repudiation.

a)zle b)ys C)le )y S

17. He expresses and pronounces the formula.

a)des (30,5 10l b)azus (13,51l C)dapo (33l ploxl d)le (81!

18. He may not have sexual intercourse

8) g blgkes! O)g gpeols ala dgles

19. This lasts waiting period

a)e b)ole; c) sl oy e d)ose
20. He has decided to execute the triply divorce.

a) b b)adMb aws C)al5 dw d)zlgs)) aws
21. In the case of impotence

a)_gowr (gl b)olg b C)oye d)esylos

22. The wife petition for annulment.

A)gousd (35 ol b) el (3l ol €)oo (335 ColSis d)glusl (ols Sl
23.1tis anirreversible divorce.

a)als b b) )y 3o c)oyb Mo d)a8Mb aw
24. She cancels this ban

2)(10)S dgdxe b)osis oo C)C)S Egios d)0d)S g

25.Tn order to substantiate.
a)CyS <l b)) 48k c)olsy 3Mb d)eys Jbb

26. The spouses utter for compensation.

)yl (93)S Canlgs ) b)azus (10,5 |z o)l ()81l Ay 05l
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B -Which options are correct? Itis considerable that it may all options be true, you should choose the option that is more correct.

27.But strictly speaking is established directly when then 2 sides have signed the contract.
a)aiil 03)S Liaal |y s -yl 18l 5 39 obles Mde oyl diuo &S 30,5 o Mixio By 2SS Nie
b)23)3 Mdrio 5 die b 39 05les 1m0 W 2S5 Mie dipo
C)3gi 0lgS Ade -yl dxno 4235 o Ninio B S5 e
d)anil 03,8 Laal |y ()] byl 4833, o Sinia By N )5 553 o 4
28. We have seen in the modern epoch tendencies to a drastic inflation in the amounts given in dower .
)l & j00 Gliso 2 polao pas 13 pyg gdaws
b)amd il 331 1) 555 (4l yisd ) yoo s 0dlgls aS o Corgo ks o555l
C) sl 03lel 1yl py55 ol o el 2 Lo g0 ) @B pedanw
)l py5 {1} e 3 Jlio 0 e ¢ polae pae 5>
29.Itis legally required that the direct sum is paid before the marriage can become valid.
)9 Calay dde 3 S pe bl leyis
b)agis ity 2155 e el L g o bl S Llod 5
C)asl oads 4 e 5l LS bl ey ¢ Jb e
)39 486 de 31wy o0 b Loy
30. The Shria defines certain mutual responsibilities for husband and wife.
2) Sl 035 129 (5] 48)logd AU 9 Culgtine dngy 9 25 sl Syl
B) 0355y (6] byl 93 CaJISS Aot (s Cany s
C) il 03)S" o 3,8 ydbo (gly astiio AT Cary yi
d) All options are true
31. The wife should obey her husband
)48 Sy 3y0 3l b 05 b)aS Cun g5 5l bl 4>
C)AS Cunss g) 51 Wl (0 gy A’ (oo Cundi 29 ) 429

32. A wife is free to sue

2)1S s Wl oo dvgy b)uss’ ColSils oS Cunl jlme gy

C) (A Cuwlgsald) WS lged doldl z g5 dule Wl 0 dovg) d)asS ol oSl jloxo (9
33. Non-payment of maintenance

a)oel caldy, b)ads calsy C)aid Caldy pac )yl calsy pas
34.1tis freed

a)Cuol oy 033 b)Cawl 3l )] 5l d)cul >
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36. Thereis an inherent contradiction in these rules.

)15 ,KuSb bl 9 1D 28L5 S5 aelgd oyl
)33 dgg04eld 93 oyl 3 Sgp s

37. A father has the right to give away a minor in a marriage
235l 3 S 5 @], 2l 538 0l 0y
C)aygh (S e | Sl 538 4k 3y

A)Cusl s ) oS s

39. She renounces her right to dower

b)cud ol S sie

AL o8 3> jl 42

C)AS oo Lablus ) 00 &) Copnd 065 (3> dg)
40. If one of them dies, the other inherits.

A3 o Sl 9l 3 6% y0 (S 5]

C)3y (o Syl ol 3l (6550 ile 05 S
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35. The brides right to refusal
a)ag) Slyp s 3> b)asg; Cbl s> C)dxg) (Sly glial 3> d)esg) sly gliaiwl 3>

D)yls o525 0358 93 ol e (99> Bl S
)3 295 03518 53yl &y s s 85 S

d) None of them

38. The marriage is cancelled as if the contract had never been made.

C)w‘b)yé@oJﬂ)AﬂQ d)A&B

b)cuiniS ddd 3l asg

)35 400 3> bli 3l a5

b)3gis g0 033 )l s S yney 3]
d)og: Anles i govine (6)503 o (255 3 (2 5

b joym 9 (3390




